H3E w0l b HZIE TS gl

20214 1€ 2

F2LHY L
0:“H|' O|-|_|.|_,_ 2 710-5561
H| 2021 - 482 http://www.jjg.hs.kr
1 NS g

2021. 11. 2.@H7HX| MHe| RELHM9 2 XXt 5226 U/l (4,864F A2|dliX|)stRASLICH
2 IA=UM9 SX19 AL HME AT KT LA 186, A2 [FHTH]

Q1. X =22
Al. Z2LH9 SRIXP7F 24

0]y

O - ®
A4S E SRS 0 2a)o] Gt ko) MEHsar o-@ [ 2
_ " 2 o rzeung - mExw - 2w -
od 52 28l 42|7|2t2 YoM Bl 82 : § 5
~~~~~~~~~~~~~~~~~~~ &
; - HEEH
= T ULIK?
D& OHESHH JtsgL Ch
o1+ 0] gl 70M| D|Bt REAAT SR
StA0| ZOof| F e+ SIX| Yo, BXt EE= EA7F HICHEH AL 22
BUE 9t LSOl OfER| BS A
2119 ZAH S 0|5 |LIER O[ARHY, SSTR SIS FEEIX) O 385 04 el
olEE REEIT s Uiy, A SH} 2HOIQM Fi BOOUYIH] £0] 24X}, ZAS Strst
BAISISHT}, QI ST}, TEHITHBMI30), SAIS SHISHOIAIE AQHES 9 TIojsim
L el [T oA, 405194, a0l =
O101%4 QOILBH 1|2} ZIAIRHE] D HICH HZIRRI0 HS (CT) 2,
e QA+ BEE HI2 AATSIE £ 0 9121 JHs Ol HE
Q3. ES X7} HEEA| Q10{0f SiLIR?
A3, OjdH Hojol 5 =20 ZQst 2HXIXIQF 704 0|4 = rIAt= HIEA| HSXH7F QLT
X BB 27 YURLI0 gln, 722 el KU S0, Y 5 TE 55 U
Q4. SH7IEF0| U= A0 = EA SiLiR?
A4, EDXI7F Ot 5HOI2 RIZIMoZ OIEE QAZ XA 5|25,
B3I X0 =50 Az % 22| gL Ct
Chon AKX EAte] RREERRA AR o] @ S0l
M=t 7t2 22 oiAM THEIX| 2 XEeE 2H Xt7tA 2|7t Zhs L .
X O™ T A2 X SHQ : KEIX|E AR M DX O|HEHE = 1420|
Atk AEfO|O{OF &




A ElLtR?

]
o

Q5. MEX|Z 7|72 of

7t

A5. X|27|

Q6. HolM o 2| S A EILR?

oll

MeEwk|E 7|E(e)e HBED, 1

=
—

A6. MEIX|Z CHEAL

1= () (

|Ate| BICHH Z

=0
— =

2 SsoiA Utk

NEzIE IE RSE

O HABHAHE(=ILR)
HEH, HI2H|, LAATOHES

AT

O RS FHE(HIZHIIR)

e

jo0

orl

El= M5 %

al
o

O HMEX|= Al |

=
=

HIZEZ, KFOtAS, HI0IAE

I,

(

B2, MEE ASH|, AT

=
=

{oF

(KIgofl tep B MRAEHM TR

# 0|5

R0
oir

Or
=

Kil
]

]

ol

M
A

{10
ol

Ok

=

{I

IdTLH9 4= =

3

780l M

—_
o
T

o 329 9 O

2

EfZ=AtOf It

ujo

M|

7t5tREL L A2LHM9Z MMESO| K 2o

=
o

(ZELH9 | O[F) iy

iT

I

ol

o

LH

i

o

7l

i

70

<3

ol

ol

X
T
T8
T
ol =
K4 of
.A_.= .._A.o
ojil ic©
Ho
oh
o 3
Mo o
=
7 ool
{[n ﬁo
o

Ml =
20
od ol
LU
mﬂ _Zﬂ
kT

N

7| W20 OFlEZOIL #7178 & = AUl

ol

=

ol

110
|

ALA A HHLE UES HoM .

HF=Z
od

AlZ1of o

B SPS|
1’0

ioT
i
NF
1
I's

8o

il
1

150

ojn
mr
100
i

0]

a
1o

o =0 gHH.

L
—

Z|3f

o
aT

_z_.o
ojn
Ofu
o

®F

2|7 @&t

=
=]

A2 7

HAS 7MSAI7|L

—
28 Yue AE

R
=

FAllR.

o

2E 0l&

ojn

|

dA2|7] AHE= 20l

. PC 5

HE=

Ap7] Hofl=

3

O




